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Jared had $2.78 left in his pocket. In all, he had 26 coins. How many
of each coin did he have?

You had a large container of marbles when Don gave you 1432 of
his marbles which gave you 3668 in total, how many did you have
before Don gave you his?

Round the following number of cars in each row to the closest ten.
Then estimate how many cars are in the parking lot. The first row

has 68, the 2nd row has 44, the 3rd row has 28, the 4th row has 97
and the 5th row has 22. Estimate the number of cars in the parking lot.

When | looked outside, | saw 29 wheels. How many wagons,
tricycles and bicycles were outside?

If you were counting backwards by 2s starting at 100, how many num-
bers would you have said before you get to 767

Show how a box of oranges in a single layer would be packed in a
crate if there were 48 oranges in the crate.

If you had 8 boxes of candies and there were 12 candies in each box,
how many candies would you have?

Jenna lost 43 of her stamps. She only has 24 left. How many did she used
to have?

Molly has , 3 one dollar bills, 12 quarters, 7 dimes, 4 nickels and 4 pen-
nies. Does she have enough to buy a hat she wants for $6.63 ? Explain
your answer.

Determine a rule for the following number pattern and show the next 3
numbers:
246, 251, 249, 254, 252, 257, 255, 260
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7 quarters, 8 dimes, 3 nickels and 8 pennies.

2236 marbles.

Approximately 260 cars.

4 wagons, 3 tricycles, 2 bicycles. (29 wheels)

12

8 rows of 6, or 6 rows of 8 or 4 rows of 12 or 12 rows of 4 etc.
96

67 stamps.

She has a total of $6.94 and the is only $6.63 which means she will
have 31 cents left over.

10. 246, 251, 249, 254, 252, 257, 255, 260, 258, 263, 261

The pattern is, gain 5 then lose 2, then gain 5, then lose 2
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